[25 points] 3

3. For a point P on the curve y = 2>+ 5 different from (0,5), let 7" and Q be points on the z-axis
such that the line PT is tangent to the curve at P and P(Q is perpendicular to the z-axis. Let A be
the area of the triangle PQT. Assume that the coordinates are measured in centimeters and the time
is measured in seconds.

Find all possible values of the a-coordinate of the point P at a moment when A is decreasing at a rate
of 6 cm®/s and the z-coordinate of the point P is increasing at a rate of 2 cm /s.
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